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ENGLISH SUNDAY QUIZ FOR SSC CGL 
 
S1. Ans.(b) 
Sol. Get off: to fall asleep; to leave work without permission; to stop discussing a particular subject. 
Get over: to return to your usual state of health, happiness after a shock. 
Hence ‘to get over’ should be used. 
 
S2. Ans.(c) 
Sol. Make over: transform.Add ‘had’ before ‘made’ as the sentence demands the usage of ‘Past Perfect 
Tense’ here. 
 
S3. Ans.(b) 
Sol. Replace ‘larger’ by ‘largest’.Article ‘the’ takes ‘superlative degree of adjective’ after it not the 
‘comparative degree’. 
 
S4. Ans.(b) 
Sol. Use preposition ‘by’ with ’baffled’. 
 
S5. Ans.(b) 
Sol. Replace ‘are’ with ‘is’. ‘Romanticism of melancholy’ is a singular subject and hence should be followed 
by a singular verb. 
 
S6. Ans.(c) 
Sol. Replace ‘are’ by ‘is’. A series of /A band of/ A bunch of etc. + Plural Noun take singular verb with it.  
 
S7. Ans. (b)  
Sol. Replace ‘with’ by ‘on’ or ‘over’ because with “keep watch”, on/over is used. 
 
S8. Ans.(b) 
Sol. Replace ‘who’ with ‘that’. Relative pronoun ‘who’ is used for living things hence doesn’t fit in the 
context.  
 
S9. Ans.(c) 
Sol. Replace ‘resident’ with ‘residence’.  
Resident: a person who lives somewhere permanently or on a long-
term basis. 
Residence: the place where someone lives.  
In the given sentence, reference of a place is given. Hence use 
‘residence’ in place of ‘resident’.  
S10. Ans.(a)  
Sol. Use ‘The’ in place of ‘A’. 
 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2976/SSC-Test-Pack-Online-Test-Series-(12-Months)


2 www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com 

 

S11. Ans.(c) 

S12. Ans.(d) 

S13. Ans.(b) 

S14. Ans.(b) 

S15. Ans.(c) 

S16. Ans.(d) 

S17. Ans.(d) 

S18. Ans.(b) 

S19. Ans.(c) 

S20. Ans.(b) 

 

S21. Ans.(c) 

Sol. To agree with someone is to share a point of view with him/her.  

Hence option C improves the sentence.  

 

S22. Ans.(b) 

Sol. ‘Not only………but also’ is the right compound conjunction pair and hence improves the sentence. 

 

S23. Ans.(d) 

Sol. No error. 

 

S24. Ans.(c) 

Sol. Use ‘had’ before covered.  

 

S25. Ans.(d) 

Sol. Option D is the correct meaning. 

 

S26. Ans.(c) 

Sol. Option C is the correct meaning. 

 

S27. Ans.(a)  

Sol. Option A is correctly spelt.  

 

S28. Ans.(b) 

Sol. Option B is correctly spelt. 

 

S29. Ans.(c) 

Sol. Option C is the correct substitution.  

 

S30. Ans.(d) 

Sol. Option D is the correct substitution. 
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